
1. Заполни таблицы.                      Вариант В 

 

Слагаемое 16  91  11  55  77 

Слагаемое  50  32  30  20  

Сумма  30 58 100 70 18 67 60 80 80 
 

 

2.Реши уравнения 

 

f  +  14 = 25 

f =................... 

f =........... 

   +  14  = 25 

Ответ: f = 

 

d  +  40 =  85 

d =................... 

d =........... 

   +  40  =  85 

Ответ: х = 

 

 50 + j = 59 

j =................... 

j =........... 

50 +    =  59 

Ответ: j = 

 

 

 

r  -  56 =  5 

r =................... 

r =........... 

   +  56  = 5 

Ответ: r = 

 

у  -   10 =  25 

у =................... 

у =........... 

   +  10  =  25 

Ответ: у = 

 

30 - h =  21 

h =................... 

h =........... 

30  -   =  21 

Ответ: h = 

 
 
 
 
 
 

 

3. Посчитай треугольники 

 

Уменьшаемое  78  50 48 60    

Вычитаемое 70  40    6 60 15 

Разность 29 38 35 48 36 58 74 40 15 


